Kris W. Kobach, Secr	s Regi etary of State	ster
Vol. 35, No. 2	4 June 16, 2016	Pages 573-592

In this issue	Page
Department of Labor	U
Notice of maximum and minimum weekly unemployment benefit amounts	
State Board of Indigents' Defense Services	
Notice of proration to assigned counsel	
Criminal Justice Coordinating Council	
Notice of meeting	
Kansas Public Employees Retirement System	
Request for proposals for deferred compensation (457) plan and investment consulting services	574
Department of Administration—Office of Facilities and Property Management	
Notice of requested engineering services	575
Notices of requested architectural services	575
Department of Administration—Procurement and Contracts	
Notice to bidders for state purchases	576
Department of Agriculture-Division of Conservation	
Notice to contractors	576
Kansas Board of Regents Universities	
Notice to bidders	
Kansas Development Finance Authority	
Notice of hearing on proposed revenue bonds	
Pooled Money Investment Board	
Notice of investment rates	
Department of Health and Environment	
Notice concerning water pollution control permits/applications	
Requests for comments on proposed air quality permits	579, 580
Permanent Administrative Regulations	
Department for Children and Families	
Board of Emergency Medical Services	
Temporary Administrative Regulations	F02
Kansas Lottery	
Index to administrative regulations	

State of Kansas

## **Department of Labor**

## Notice of Maximum and Minimum Weekly Unemployment Benefit Amounts

Each year, in accordance with K.S.A. 44-704 of the Kansas Employment Security Law, the maximum and minimum weekly benefit amounts payable to unemployment insurance claimants are recalculated. For SFY 2017, new claims filed on or after July 1, 2016, and before July 1, 2017, the maximum weekly benefit amount will be \$474 and the minimum weekly benefit amount will be \$118.

> Lana Gordon Secretary of Labor

## Doc. No. 044605

## State of Kansas

## **Board of Indigents' Defense Services**

## Notice of Proration to Assigned Counsel

Notice is hereby given of the proration of the hourly rate paid to assigned counsel from the statutory rate of \$80 per hour to \$70 per hour effective July 1, 2016, and continuing to June 30, 2017.

The anticipated savings from this proration is \$1.5 million.

Doc. No. 044606

Patricia A. Scalia State Director Criminal Justice Coordinating Council Notice of Meeting

The Kansas Criminal Justice Coordinating Council will meet at 3:30 p.m. Tuesday, June 21, 2016, at the Landon State Office Building, Room 560, 900 S.W. Jackson, Topeka.

Shawn Cowing, Administrator Governor's Grants Program

Doc. No. 044610

### State of Kansas

State of Kansas

## **Public Employees Retirement System**

### **Request for Proposals**

The Kansas Public Employees Retirement System (KPERS) is soliciting proposals for deferred compensation (457) plan and investment consulting services for the KPERS 457 Plan. A copy of the RFP may be downloaded from the KPERS' website at www.kpers.org. All proposals must meet the minimum qualifications set forth within the RFP. Respondents should deliver proposals to the KPERS office by 3 p.m. July 22, 2016. Questions about the RFP should be directed in writing to Faith Loretto, Deferred Compensation Plan Manager, KPERS, 611 S. Kansas Ave., Suite 100, Topeka, KS 66603, or FLoretto@ kpers.org, no later than June 30, 2016.

> Alan D. Conroy Executive Director

Doc. No. 044612

The Kansas Register (USPS 0662-190) is an official publication of the state of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly and a cumulative index is published annually by the Kansas Secretary of State. One-year subscriptions are \$80 (Kansas residents must include applicable state and local sales tax). Single copies, if available, may be purchased for \$2. **Periodicals postage paid at Topeka, Kansas. POSTMASTER:** Send change of address form to Kansas Register, Secretary of State, 1st Floor, Memorial Hall, 120 S.W. 10th Ave., Topeka, KS 66612-1594.

© Kansas Secretary of State 2016. Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

Hard copy subscription information and current and back issues of the Kansas Register (PDF Format) can be found at the following link: http://www.sos.ks.gov/pubs/pubs\_kansas\_register.asp.

Published by Kris W. Kobach Secretary of State 1st Floor, Memorial Hall 120 S.W. 10th Ave. Topeka, KS 66612-1594 785-296-4564 www.sos.ks.gov



Register Office: 1st Floor, Memorial Hall 785-296-0082 Fax 785-296-8577 kansasregister@ks.gov State of Kansas

## Department of Administration Office of Facilities and Property Management

## Notice of Requested "On-Call" Engineering Services

Notice is hereby given of the commencement of the selection process for "on-call" fire protection engineering services for Kansas State University. Services are required for restricted (small) projects of \$1,000,000 or less, one firm will be selected. The contract will be for three years.

For more information contact Diana Hutchison, dlhutch@ksu.edu, 785-532-0379. Firms interested in providing these services should be familiar with the requirements which can be found in Part B–Chapter 4 of the Building Design and Construction Manual at the website below.

To be considered, one (1) PDF file of the following should be provided: State of Kansas Professional Qualifications DCC Forms 051-054, inclusive, and information regarding similar projects. These forms may be found at http://admin.ks.gov/offices/ofpm/dcc/f-and-d. State of Kansas Professional Qualifications DCC Form 050 for each firm and consultant should be provided at the end of each proposal. Please include your firm name, agency abbreviation and an abbreviated project name in the title of the PDF document. Proposals should be less than 5 MB and follow the current State Building Advisory Commission guidelines which can be found in Part B – Chapter 2 of the Building Design and Construction Manual at http://www.admin.ks.gov/offices/ofpm/dcc/bdcm. Proposals should be sent on a CD, DVD or flash drive along with a transmittal to Randy Riveland, Office of Facilities and Property Management, Suite 700, 800 S.W. Jackson, Topeka, 66612-1216. Proposals sent via email will no longer be accepted and paper copies of the proposals are no longer required. It is the proposer's responsibility to ensure proposals are received by the closing date and time. Delays in mail delivery or any other means of transmittal, including couriers or agents of the issuing entity, shall not excuse late proposal submissions. Proposals received after the date and time noted below will not be forwarded to the State Building Advisory Commission for review. If you have questions call 785-296-0749. The PDF proposal submissions shall be delivered to the attention of Randy Riveland by 2 p.m. on or before July 1, 2016.

> Mark J. McGivern, Director Office of Facilities and Property Management

Doc. No. 044615

## State of Kansas

## Department of Administration Office of Facilities and Property Management

### Notice of Requested "On-Call" Architectural Services

Notice is hereby given of the commencement of the selection process for "on-call" architectural services for restricted (small) projects of \$1,000,000 or less at Kansas State University. One firm will be selected. The contract will be for three years. Firms must be capable

of providing services for the Manhattan and Polytechnic (Salina) campuses.

For more information contact Diana Hutchison, dlhutch@ksu.edu, 785-532-0379. Firms interested in providing these services should be familiar with the requirements which can be found in Part B–Chapter 4 of the Building Design and Construction Manual at the website below.

To be considered, one (1) PDF file of the following should be provided: State of Kansas Professional Qualifications DCC Forms 051-054, inclusive, and information regarding similar projects. These forms may be found at http://admin.ks.gov/offices/ofpm/dcc/f-and-d. State of Kansas Professional Qualifications DCC Form 050 for each firm and consultant should be provided at the end of each proposal. Please include your firm name, agency abbreviation and an abbreviated project name in the title of the PDF document. Proposals should be less than 5 MB and follow the current State Building Advisory Commission guidelines which can be found in Part B – Chapter 2 of the Building Design and Construction Manual at http://www.admin.ks.gov/offices/ofpm/dcc/bdcm. Proposals should be sent on a CD, DVD or flash drive along with a transmittal to Randy Riveland, Office of Facilities and Property Management, Suite 700, 800 S.W. Jackson, Topeka, 66612-1216. Proposals sent via email will no longer be accepted and paper copies of the proposals are no longer required. It is the proposer's responsibility to ensure proposals are received by the closing date and time. Delays in mail delivery or any other means of transmittal, including couriers or agents of the issuing entity, shall not excuse late proposal submissions. Proposals received after the date and time noted below will not be forwarded to the State Building Advisory Commission for review. If you have questions call 785-296-0749. The PDF proposal submissions shall be delivered to the attention of Randy Riveland by 2 p.m. on or before July 1, 2016.

> Mark J. McGivern, Director Office of Facilities and Property Management

Doc. No. 044616

### State of Kansas

## Department of Administration Office of Facilities and Property Management

### Notice of Requested Architectural Services

Notice is hereby given of the commencement of the selection process for architectural services for the renovation of the third floor Veterinary Labs in Trotter Hall at Kansas State University. The project will renovate approximately 13,000 square feet of interior space and will address aging infrastructure, outdated function space, and compliant accessibility and life-safety features. The remodeled area will provide new gross anatomy labs, microanatomy lab, student study space, shower/restroom area, and support spaces for labs and students. Along with interior upgrades, the mechanical, ventilation, plumbing, electrical and life safety systems will be upgraded. The estimated construction cost is \$3,342,000.

An architectural/engineering program is available at http://admin.ks.gov/offices/ofpm/dcc/arch-eng-programs. For more information contact Diana Hutchison, dlhutch@ksu.edu, 785-532-0379.

To be considered, one (1) PDF file of the following should be provided: State of Kansas Professional Qualifications DCC Forms 051-054, inclusive, and information regarding similar projects. These forms may be found at http://admin.ks.gov/offices/ofpm/dcc/f-and-d. State of Kansas Professional Qualifications DCC Form 050 for each firm and consultant should be provided at the end of each proposal. Please include your firm name, agency abbreviation and an abbreviated project name in the title of the PDF document. Proposals should be less than 5 MB and follow the current State Building Advisory Commission guidelines which can be found in Part B-Chapter 2 of the Building Design and Construction Manual at http://www.admin.ks.gov/offices/ofpm/dcc/bdcm. Proposals should be sent on a CD, DVD or flash drive along with a transmittal to Randy Riveland, Office of Facilities and Property Management, Suite 700, 800 S.W. Jackson, Topeka, 66612-1216. Proposals sent via email will no longer be accepted and paper copies of the proposals are no longer required. It is the proposer's responsibility to ensure proposals are received by the closing date and time. Delays in mail delivery or any other means of transmittal, including couriers or agents of the issuing entity, shall not excuse late proposal submissions. Proposals received after the date and time noted below will not be forwarded to the State Building Advisory Commission for review. If you have questions call 785-296-0749. The PDF proposal submissions shall be delivered to the attention of Randy Riveland by 2 p.m. on or before July 1, 2016.

> Mark J. McGivern, Director Office of Facilities and Property Management

Doc. No. 044617

State of Kansas

## Department of Administration Procurement and Contracts

## Notice to Bidders

Sealed bids for items listed will be received by the director of Procurement and Contracts until 2 p.m. on the date indicated. For more information call 785-296-2376:

07/06/2016 07/07/2016	EVT0004465 EVT0004467	Evaluate LSTA 5 Year Plan Pharmacy Services for Kansas Veteran's Home
		(KVH)

The above referenced bid documents can be down-loaded at the following website:

## http://admin.ks.gov/offices/procurement-and-contracts/ bid-solicitations

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

http://admin.ks.gov/offices/procurement-and-contracts/ additional-files-for-bid-solicitations

07/07/2016	A-012949	Axe Library Reroof at
		Pittsburg State University
07/12/2016	A-012709	Adult Treatment Center Roof
		Replacement Building
		C-South; Larned State Hospital

Information regarding prequalification, projects and bid documents can be obtained at 785-296-8899 or http:// admin.ks.gov/offices/ofpm/dcc.

> Tracy T. Diel, Director Procurement and Contracts

Doc. No. 044619

State of Kansas

## Department of Agriculture Division of Conservation

### Notice to Contractors

Sealed bids for the rehabilitation of detention dam Site A-1 for Delaware WJD 10, in Nemaha County, Kansas, will be received by the Delaware Watershed Office, 125 W. 4th St., Holton, KS 66436, until 1:30 p.m. July 21, 2016. A site showing will be held at 2 p.m. July 6, 2016.

Project Specification: Principal Spillway (PS) Type and Size: Replace existing PS with 8 in. DR21 ASTM gasketted PVC pipe and appurtenances. Other specifications: Removal of existing CMP Principal Spillway; dewater reservoir by 14 ft. from the inlet of the principal spillway.

A copy of Invitation for Bid, plans and specifications can be obtained from the Delaware Watershed Office, 785-364-4309, or online at www.delawarewatershed.com.

For engineering questions contact King and Associates Engineering, 307 Montana, Holton, KS 66436, 785-363-4312. For any other questions pertaining to the project listed above contact Hakim Saadi, P.E., Watershed Program Manager, at 785-291-3099 or hakim.saadi@kda.ks.gov.

> Robert Reschke Executive Director

Doc. No. 044611

### State of Kansas

## **Board of Regents Universities**

### Notice to Bidders

The universities of the Kansas Board of Regents encourage interested vendors to visit the various universities' purchasing offices' websites for a listing of all transactions, including construction projects, for which the universities' purchasing offices, or one of the consortia commonly utilized by the universities, are seeking information, competitive bids or proposals. The referenced construction projects may include project delivery construction procurement act projects pursuant to K.S.A. 76-7,125 et seq.

**Emporia State University** – Bid postings: www.emporia.edu/ busaff/. Additional contact info: phone 620-341-5145, fax: 620-341-5073, email: tshepher@emporia.edu. Mailing address: Emporia State University Purchasing, Campus Box 4021, 1 Kellogg Circle, Emporia, KS 66801-5415.

Fort Hays State University – Bid postings: www.fhsu.edu/ purchasing/bids. Additional contact info: phone 785-628-4251, fax: 785-628-4046, email: purchasing@fhsu.edu. Mailing address: Fort Hays State Purchasing Office, 601 Park St., 318 Sheridan Hall, Hays, KS 67601.

Kansas State University – Bid postings: www.k-state.edu/ purchasing/rfq. Additional contact info: phone: 785-532-6214, fax: 785-532-5577, email: kspurch@k-state.edu. Mailing address: Division of Financial Services/Purchasing, 21 Anderson Hall, Kansas State University, Manhattan, KS 66506.

**Pittsburg State University** – Bid postings: www.pittstate.edu/ office/purchasing. Additional contact info: phone: 620-235-4169, fax: 620-235-4166, email: purch@pittstate.edu. Mailing address: Pittsburg State University, Purchasing Office, 1701 S. Broadway, Pittsburg, KS 66762-7549.

University of Kansas – Electronic bid postings: http:// www.procurement.ku.edu/. Paper bid postings and mailing address: KU Purchasing Services, 1246 W. Campus Road, Room 20, Lawrence, KS 66045. Additional contact info: phone: 785-864-5800, fax: 785-864-3454, email: purchasing@ku.edu.

University of Kansas Medical Center – Bid postings: http:// www2.kumc.edu/finance/purchasing/bids.html. Additional contact info: phone: 913-588-1100, fax: 913-588-1102. Mailing address: University of Kansas Medical Center, Purchasing Department, Mail Stop 2034, 3901 Rainbow Blvd., Kansas City, KS 66160.

Wichita State University – Bid postings: www.wichita.edu/ purchasing. Additional contact info: phone: 316-978-3080, fax: 316-978-3528. Mailing address: Wichita State University, Office of Purchasing, 1845 Fairmount Ave., Campus Box 12, Wichita, KS 67260-0012.

> Kathy Herrman Chair of Regents Purchasing Group Director of Purchasing Fort Hays State University

Doc. No. 043663

### State of Kansas

## Kansas Development Finance Authority

## Notice of Hearing

A public hearing will be conducted at 9 a.m. Thursday, June 30, 2016, in the offices of the Kansas Development Finance Authority (KDFA), 534 S. Kansas Ave., Suite 800, Topeka, on the proposal for the KDFA to issue its Agricultural Development Revenue Bond for the project numbered below in the respective maximum principal amount. The bond will be issued to assist the borrower named below (who will be the owner and operator of the project) to finance the cost in the amount of the bond, which is then typically purchased by a lender bank who then, through the KDFA, loans the bond proceeds to the borrower for the purposes of acquiring the project. The project shall be located as shown:

**Project No. 000953–Maximum Principal Amount: \$220,304.57.** Owner/Operator: William C. and Sondra L. Ramsey; Description: Acquisition of 217 acres of agricultural land and related improvements and equipment to be used by the owner/operator for farming purposes. The project is being financed by the lender for William C. and Sondra L. Ramsey and is located at Section 1, Sibley West Township, Cloud County Kansas, approximately 4 miles north of Concordia, Kansas, 2 ½ miles west, and ½ mile north. The bond, when issued, will be a limited obligation of the KDFA and will not constitute a general obligation or indebtedness of the state of Kansas or any political subdivision thereof, including the KDFA, nor will it be an indebtedness for which the faith and credit and taxing powers of the state of Kansas are pledged. The bond will be payable solely from amounts received from the respective borrower, the obligation of which will be sufficient to pay the principal of, interest and redemption premium, if any, on the bond when it becomes due.

All individuals who appear at the hearing will be given an opportunity to express their views concerning the proposal to issue the bond to finance the project, and all written comments previously filed with the KDFA at its offices at 534 S. Kansas Ave., Suite 800, Topeka, 66603, will be considered. Additional information regarding the project may be obtained by contacting the KDFA.

> Tim Shallenburger President

### Doc. No. 044618

### State of Kansas

## **Pooled Money Investment Board**

## Notice of Investment Rates

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 2014 Supp. 12-1675(b)(c)(d) and K.S.A. 2014 Supp. 12-1675a(g).

## Effective 6-13-16 through 6-19-16 Term Rate

101111	Itute
1-89 days	0.37%
3 months	0.33%
6 months	0.48%
12 months	0.66%
18 months	0.74%
2 years	0.78%

Scott Miller Director of Investments

Doc. No. 044602

## State of Kansas

## **Department of Health and Environment**

### Notice Concerning Kansas/Federal Water Pollution Control Permits and Applications

In accordance with Kansas Administrative Regulations 28-16-57 through 63, 28-18-1 through 17, 28-18a-1 through 33, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations and effluent limitations of the state of

Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation and reissuance of the designated permit or termination of the designated permit.

### Public Notice No. KS-AG-16-092

Application for New or Expansion of **Existing Swine Facilities** 

Name and Address	Owner of Property Where
of Applicant	Facility Will Be Located
Kansas-Smith Farms, LLC	Kansas-Smith Farms, LLC
23179 #5 Road	23179 #5 Road
Plains, KS 67869	Plains, KS 67869
Legal Description	<b>Receiving Water</b>
SE/4 of Section 14 T33S, R31W Seward County	Cimarron River Basin

Kansas Permit No. A-CISW-H005

Federal Permit No. KS0091766

This is notification KDHE has received a complete permit application for the operation of a swine waste management facility capable of housing 2,720 head (1,088 animal units) of swine weighing more than 55 pounds each and 4,000 head (400 animal units) of swine weighing less than 55 pounds each, for a total of 1,488 animal units. The complete application can be viewed at the office of the Seward County Clerk, the KDHE Southwest District Office in Dodge City, KS or the KDHE Main Office in Topeka, KS. A permit to operate the proposed swine waste management system will not be issued without additional public notice.

### Public Notice No. KS-AG-16-093/095

**Pending Permits for Confined Feeding Facilities** 

Name and Address of Applicant	Legal Descriptio	n Receiving Water
Melissa Langhofer, Manager Kansas-Smith Farms, LLC – Farm 14 23179 #5 Road Plains, KS 67869	SE/4 of Section 14 T33S, R31W, Seward County	4, Cimarron River Basin
Kansas Permit No. A-C	ISW-H005 F	ederal Permit No. KS0091766

This is a permit modification for an existing facility with the maximum capacity of 2,720 head of swine weighing more than 55 pounds and 4,000 head of swine weighing 55 pounds or less. The facility will consist of six enclosed breeding/gestation buildings, a partially constructed farrowing building, and an earthen retention structure. The permit is being modified to reflect the planned construction completion of the farrowing building and a new isolation building. The required operating levels of the retention structure and Schedule of Compliance items have also been adjusted, accordingly. Only the portions of the permit being modified are subject to public comment. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Tim Nace	SW/4 of Section 03,	Lower Arkansas River
Nace Farms	T28S, R18W,	Basin
17136 30th Ave.	Kiowa County	
Greensburg, KS 67054	-	

Kansas Permit No. A-ARKW-F001

This is a new permit for a new facility for 40,000 head (488 animal units) of laying hens with other than liquid manure system and 40 head (40 animal units) of cattle greater than 700 pounds than are on pasture non-confined feeding. Two new enclosed chicken buildings are proposed at this site. The approved proposed construction will be

Name and Address of Applicant	Legal Description	Receiving Water
Mervin L. Sexton Manhattan Commission Co. Inc. 8424 E. Highway 24 Manhattan, KS 66502	SW/4 of Section 10, T10S, R08W, Pottawatomie County	Kansas River Basi

Kansas Permit No. A-KSPT-B006

This permit is being reissued for an existing public livestock market facility with a maximum capacity of 144.1 animal units of cattle. This represents a decrease in the permitted animal units from the previous permit.

### Public Notice No. KS-AG-R-16-019/020

Per K.S.A 65-171d, the following registrations have been received for proposed confined feeding facilities:

Name and Address of Registrant	Legal Description	County
John Holman Black Diamond Angus Ranch 10072 120 Road Spearville, KS 67876	SW/4 of Section 04 & SW/4 of Section 06, T25S, R23W	Ford
Name and Address of Registrant	Legal Description	County

## Public Notice No. KS-Q-16-062/063

The requirements of the draft permit public noticed below are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28 (b-g), and Federal Surface Water Criteria.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Minneapolis, City of 218 N. Rock Minneapolis, KS 67467	Lindsey Creek via Unnamed Tributary	Treated Domestic

Federal Permit No. KS0086304 Kansas Permit No. M-SO27-OO02

Legal Description: NW1/4, NW1/4, SE1/4, S7, T11S, R3W, Ottawa County, KS

The proposed action is to modify an existing permit for an existing facility. The proposed modification includes the addition of effluent irrigation and extension of the schedule of compliance for May 30, 2018 for the facility to consistently meet permits limits. Monitoring of total residual chlorine has been added as a permit requirement. All other terms, provisions and conditions remain in full force and effect.

Name and Address of Applicant	Receiving Stre	am	Type of Discharge
Strother Field Commission P.O. Box 747 Winfield, KS 67156	Walnut River v Posey Creek	ia	Process Wastewater
Kanas Permit No. I-WA	17-PO01	Federal	Permit No. KS0118427

Legal Description: SW1/4, S20, T33S, R4E, Cowley County, KS

Facility Name: Strother Field Airport / Industrial Park

578

Basin

The proposed action is to reissue an existing NPDES permit for an existing facility. This facility treats domestic and industrial wastewater from the industrial park and airport. Wastewater treatment consists of an integrated fixed-film/activated sludge wastewater treatment system. The proposed permit contains limits for biochemical oxygen demand, total suspended solids, ammonia, E. coli, and pH, as well as monitoring for nitrate + nitrite, total Kjeldahl nitrogen, total nitrogen and total phosphorus.

### Public Notice No. KS-EG-16-020/025

In accordance with K.A.R. 28-46-7 and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, draft permits have been prepared for the use of the wells described below within the state of Kansas.

#### Name and Address of Applicant

Occidental Chemical Corporation 6200 S. Ridge Road Wichita, KS 67277-2283

Facility Name: Occidental Chemical - Wichita Facility

Well & Permit Number	Location
Parsons 1-1 / KS-03-173-299	Latitude: 37°29′57.65″ Longitude: 97°34′32.04″
Parsons 1-2 / KS-03-173-300	Latitude: 37°29′59.00″ Longitude: 97°34′28.72″
Parsons 1-3 / KS-03-173-301	Latitude: 37°30′00.35″ Longitude: 97°34.25.41″
Parsons 1-4 / KS-03-173-302	Latitude: 37°30′01.07″ Longitude: 97°34′22.10″
Parsons 1-5 / KS-03-173-303	Latitude: 37°30′03.06″ Longitude: 97°34′18.78″
Parsons 1-6 / KS-03-173-304	Latitude: 37°30′04.41″ Longitude: 97°34′15.47″

Facility Description: The proposed action is to issue six new Class III Salt Solution Mining Well permits. The fluids to be injected consist of fresh water and unsaturated brine. Injection is into the Hutchinson Salt member of the Wellington formation. The top of the cavity shall be no shallower than 250 feet below land surface and mining shall not extend into the upper 50 feet of the salt deposit. The maximum operational injection pressure is not to exceed 130 pounds per square inch at the wellhead. All construction, monitoring, and operation of these wells shall meet the requirements that apply to Class III Injection wells under K.A.R. 28-43-1 through 28-43-11 and K.A.R. 28-46-1 through 28-46-44 and other requirements of KDHE.

Persons wishing to comment on the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment if they wish to have the comments considered in the decision-making process. Comments should be submitted to the attention of the Livestock Waste Management Section for agricultural-related draft documents or applications, or to the Technical Services Section for all other permits, at the Kansas Department of Health and Environment, Division of Environment, Bureau of Water, 1000 S.W. Jackson St., Suite 420, Topeka, Kansas 66612-1367.

All comments regarding the draft documents or application notices received on or before July 16, 2016, will be considered in the formulation of the final determinations regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-092/095, KS-AG-R-16-019/020, KS-Q-16-062/063,

KS-EG-16-020/025) and name of the applicant/permittee when preparing comments.

After review of any comments received during the public notice period, the secretary of health and environment will issue a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC).

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the Kansas Department of Health and Environment, Bureau of Water, 1000 S.W. Jackson St., Suite 420, Topeka. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available on the Internet at http://www.kdheks.gov/feedlots. Division of Environment offices are open from 8 a.m. to 5 p.m., Monday through Friday, excluding holidays.

> Susan Mosier, M.D. Secretary of Health and Environment

Doc. No. 044614

### State of Kansas

## Department of Health and Environment

#### **Request for Comments**

The Kansas Department of Health and Environment (KDHE) is soliciting comments regarding a proposed air quality operating permit and amendment to a previously issued air quality construction permit. Coffeyville Municipal Light & Power has applied for a Class II operating permit for their Generating Facility #2 in accordance with the provisions of K.A.R. 28-19-540. Emissions of nitrogen oxides (NO<sub>x</sub>), carbon monoxide, (CO), sulfur oxides (SO), volatile organic compounds (VOCs), individual and combined hazardous air pollutants (HAPs), and PM with aerodynamic diameter less than or equal to 10 micrometers (PM10) were evaluated during the permit review process. The purpose of the Class II operating permit is to limit the potential-to-emit (PTE) for NO<sub>2</sub> CO, VOCs and HAPs to below major source thresholds. Notice is also given that the Air Emission Construction Permit dated October 16, 2015 is being revised to reflect the details of the equipment that the facility ended up installing including the PTE information as a result of this change, to rectify the PTE for individual and combined HAPs in the emission information table, and to incorporate one of the assumed operational restrictions used in the calculation for limiting the facility's PTE to below major source thresholds and certain requirements that are deemed appropriate to be included in the construction permit.

Coffeyville Municipal Light & Power, P.O. Box 1629, Coffeyville, KS 67337 owns and operates a 56.0 megawatt electric generating facility (Generating Facility #2) located at 2601 N. 5th Industrial St., Coffeyville (Montgomery

County), KS 67337, which will consist of three (3) 18.76 MW natural-gas fired spark ignition four stroke lean burn stationary reciprocating internal combustion engines, one (1) 5.0 MMBtu/hr natural gas-fired dew point heater, and one (1) circuit breaker.

A copy of proposed Class II operating permit, amended construction permit, permit applications, all supporting documentation and all information relied upon during the permit application review process, are available for public review during normal business hours at the KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka. Also, a copy of the proposed amended construction permit and Class II operating permit only can be reviewed at the KDHE Southeast District Office, 308 W. 14<sup>th</sup> St., Chanute. To obtain or review the proposed permits and supporting documentation contact Lynette Bayless, 785-291-3271, at the KDHE central office. To review the proposed amended construction permit and Class II operating permit only contact Doug Cole, 620-860-7235, at the KDHE Southeast District Office. The standard department cost will be assessed for any copies requested.

Written comments or questions regarding the documents may be directed to Lynette Bayless, KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, KS 66612-1366, 785-291-3271. In order to be considered in formulating final permit decisions, written comments must be received no later than noon Monday, July 18, 2016.

A person may request a public hearing be held on the proposed amendment to the construction permit and Class II operating permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Lynette Bayless, KDHE, Bureau of Air, no later than noon Monday, July 18, 2016, in order for the secretary of Health and Environment to consider the request.

> Susan Mosier, M.D. Secretary of Health and Environment

Doc. No. 044607

## State of Kansas

## Department of Health and Environment

## **Request for Comments**

The Kansas Department of Health and Environment (KDHE) is soliciting comments regarding a proposed air quality operating permit. Textron Aviation has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source; and the monitoring, record keeping and reporting requirements applicable to each source as of the effective date of permit issuance.

Textron Aviation, 40 Westminster St., Providence, RI 02903, owns and operates an aircraft manufacturing facility located at 5800 E. Pawnee, Wichita, KS 67218.

A copy of the proposed permit, permit application, all supporting documentation, and all information relied upon during the permit application review process are available for public review during normal business hours, 8 a.m. to 5 p.m., at the KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, and at the Wichita Department of Environmental Health, 1900 E. 9th St., Wichita. To obtain or review the proposed permit and supporting documentation contact Allyson Prue, 785-296-1994, at the KDHE central office or Randy Owen, 316-268-8353, at the Wichita Department of Environmental Health. The standard departmental cost will be assessed for any copies requested.

Written comments or questions regarding the proposed permit may be directed to Allyson Prue, KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, KS 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received no later than noon Monday, July 18, 2016.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Allyson Prue, KDHE, Bureau of Air, no later than noon Monday, July 18, 2016, in order for the secretary of Health and Environment to consider the request.

The U.S. Environmental Protection Agency has a 45day review period, which will start concurrently with the public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Ward Burns, U.S. EPA, Region 7, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, KS 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

> Susan Mosier, M.D. Secretary of Health and Environment

Doc. No. 044608

## State of Kansas

# Department of Health and Environment

## **Request for Comments**

The Kansas Department of Health and Environment (KDHE) is soliciting comments regarding a proposed air quality operating permit. Mid-Kansas Electric Company, LLC – Fort Dodge Station has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source; and the monitoring, record keeping and reporting requirements applicable to each source as of the effective date of permit issuance.

Mid-Åansas Electric Company, LLC – Fort Dodge Station, P.O. Box 430, 2440 Holcomb Lane, Holcomb, KS 67851, owns and operates a power generation plant located at 11453 Fort Dodge Road, Dodge City, Kansas 67801.

A copy of the proposed permit, permit application, all supporting documentation, and all information relied upon during the permit application review process are available for public review during normal business hours, 8 a.m. to 5 p.m., at the KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, and at the KDHE Southwest District Office, 302 W. McArtor Road, Dodge City. To obtain or review the proposed permit and supporting documentation contact Amid Paudyal, 785-296-0912, at the KDHE central office or Ethel Evans, 620-225-0596, at the KDHE Southwest District Office. The standard departmental cost will be assessed for any copies requested.

Written comments or questions regarding the proposed permit may be directed to Amid Paudyal, KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, KS 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received no later than noon Monday, July 18, 2016.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Amid Paudyal, KDHE, Bureau of Air, no later than noon Monday, July 18, 2016, in order for the secretary of Health and Environment to consider the request.

The U.S. Environmental Protection Agency has a 45day review period, which will start concurrently with the public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Ward Burns, U.S. EPA, Region 7, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, KS 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

> Susan Mosier, M.D. Secretary of Health and Environment

Doc. No. 044609

## State of Kansas

## **Department for Children and Families**

## **Permanent Administrative Regulation**

## Article 46.—CHILD ABUSE AND NEGLECT

**30-46-10. Definitions.** For the purpose of the child abuse and neglect registry, the following definitions shall apply:

(a) "Abandon" and "abandonment" have the meaning specified in K.S.A. 38-2202, and amendments thereto.

(b) "Abuse" means "physical, mental or emotional abuse" or "sexual abuse," as these two terms are defined in K.S.A. 38-2202 and amendments thereto and as "sexual abuse" is further defined in this regulation, involving a child who resides in Kansas or is found in Kansas, regardless of where the act occurred. The term "abuse" shall include any act that occurred in Kansas, regardless of where the child is found or resides, and shall include any act, behavior, or omission that impairs or endangers a child's social or intellectual functioning.

The term "abuse" may include the following:

(1) Terrorizing a child, by creating a climate of fear or engaging in violent or threatening behavior toward the child or toward others in the child's presence that demonstrates a flagrant disregard for the child;

(2) emotionally abandoning a child, by being psychologically unavailable to the child, demonstrating no attachment to the child, or failing to provide adequate nurturance of the child; and

(3) corrupting a child, by teaching or rewarding the child for unlawful, antisocial, or sexually mature behavior.

(c) "Alleged perpetrator" means the person identified in the initial report or during the investigation as the person suspected of perpetrating an act of abuse or neglect.

(d) "Child" means anyone under the age of 18 or anyone under the age of 21 and in the custody of the secretary pursuant to K.S.A. 38-2255, and amendments thereto.

(e) "Child abuse and neglect registry" means the list of names for individuals identified by the department as substantiated perpetrators.

(f) "Child care facility" has the meaning specified in K.S.A. 65-503, and amendments thereto.

(g) "Department" means Kansas department for children and families.

(h) "Investigation" means the gathering and assessing of information to determine if a child has been harmed, as defined in K.S.A. 38-2202 and amendments thereto, as the result of abuse or neglect, to identify the individual or individuals responsible, and to determine if the individual or individuals identified should reside, work, or regularly volunteer in a child care facility.

(i) "Neglect" has the meaning specified in K.S.A. 38-2202, and amendments thereto, involving a child who resides in Kansas or is found in Kansas, regardless of where the act or failure to act occurred. This term shall include any act or failure to act that occurred in Kansas, regardless of where the child is found or resides.

(j) "Sexual abuse" has the meaning specified in K.S.A. 38-2202, and amendments thereto, and shall *(continued)* 

include contact solely between children only if the contact also involves force, intimidation, difference in maturity, or coercion.

(k) "Substantiated perpetrator" and "perpetrator" mean a person who has been validated by the secretary or designee, using a preponderance of evidence, to have committed an act of abuse or neglect, regardless of where the person resides and who is prohibited from residing, working, or volunteering in a child care facility pursuant to K.S.A. 65-516, and amendments thereto. These terms shall replace the term "validated perpetrator." (Authorized by K.S.A. 2015 Supp. 38-2225 and 39-708c; implementing K.S.A. 2015 Supp. 38-2226 and 38-2230; effective Jan. 2, 1989; amended Jan. 2, 1990; amended Oct. 1, 1993; amended Jan. 1, 1997; amended Oct. 3, 1997; amended July 9, 2004; amended July 6, 2009; amended, T-30-6-1-12, June 1, 2012; amended Sept. 14, 2012; amended July 1, 2016.)

Phyllis Gilmore Secretary for Children and Families

Doc. No. 044603

State of Kansas

## **Board of Emergency Medical Services**

## **Permanent Administrative Regulations**

## Article 5.—CONTINUING EDUCATION

**109-5-5.** Retroactive approval of continuing education course. (a) Any attendant may submit a request to the board for retroactive approval of a course for continuing education credit that was completed not more than 180 days before the request is received in the board office.

(b) Each request shall be submitted on a form provided by the board.

(c) In order for retroactive approval of a continuing education course to be granted, the attendant shall provide the following, in addition to the request form:

(1)(A) A certificate of attendance or certificate of completion that meets the requirements of K.A.R. 109-5-1; or

(B) an official college transcript showing the number of credit hours awarded for the course;

(2) documentation of the course objectives; and

(3) one of the following:

(A) The signature of the emergency medical services medical director for the ambulance service serving the emergency medical service response area in which the attendant lives or the emergency medical services medical director for the ambulance service, educational institution, or advisory board for which the attendant is currently employed or a member, on the form provided by the board; or

(B) verification that the objectives of the course meet or exceed the objectives of the Kansas education standards for EMR as adopted by reference in K.A.R. 109-10-1a, the Kansas education standards for the EMT as adopted by reference in K.A.R. 109-10-1b, the Kansas education standards for the AEMT as adopted by reference in K.A.R. 109-10-1c, or the Kansas education standards for paramedic as adopted by reference in K.A.R. 109-10-1d, whichever is applicable for the level of certification that the attendant is renewing.

(d) The amount of continuing education credit awarded shall be determined by one of the following:

(1) The number of hours listed on the certificate of attendance or certificate of completion; or

(2) for each college credit hour earned, 15 hours of continuing education credit.

(e) The applicant shall be notified in writing by the board of any errors or omissions in the request for approval. Failure to correct any deficiency cited in the written notice of error or omission within 15 calendar days shall constitute withdrawal of the request. (Authorized by K.S.A. 2015 Supp. 65-6111; implementing K.S.A. 2015 Supp. 65-6129; effective Oct. 31, 2008; amended Sept. 2, 2011; amended March 15, 2013; amended July 1, 2016.)

Joseph House Executive Director

Doc. No. 044613

State of Kansas

## **Kansas Lottery**

## **Temporary Administrative Regulations**

## Article 4.-INSTANT GAMES AND DRAWINGS

**111-4-3446.** "Blast Call" instant ticket lottery game number 632. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Blast Call." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3446.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
Symbol of a coin	COIN
Symbol of a key	KEY
Symbol of a horseshoe	HRSHOE
Symbol of a pot of gold	POTGLD
Symbol of a rainbow	RAINBW
Symbol of a stack of cash	CASH
Symbol of a piggy bank	PGYBNK
Symbol of a balloon	BALOON
Symbol of a hot dog	HOTDOG
Symbol of a flower	FLOWER
Symbol of a candle	CANDLE
Symbol of a heart	HEART
Symbol of a star	DOUBLE
Prize Symbols	Captions
FREE	TICKET
\$1 <sup>.00</sup>	ONE\$
\$2.00	TWO\$
$$4^{.00}$	FOUR\$
\$5 <sup>.00</sup>	FIVE\$
10.00	TEN\$
20.00	TWENTY
$40^{.00}$	FORTY

\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU

(c) For this game, a play/prize symbol shall appear in seven play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.

(e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.

(f) "Blast Call" is a match three of six play symbols game with a doubler feature. The player will scratch the play area to reveal six play symbols and one prize amount. If the player reveals three identical symbols, the player wins the prize amount shown. If the player reveals two identical symbols and a "STAR" symbol, the player wins double the prize amount shown instantly.

(g) Each ticket in this game may win up to one time.

(h) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

		Expected Number of	Expected Value
	Prize	Prizes In Game	In Game
Free Ticket	Free Ticket	40,000	\$0
\$1	\$1	42,000	42,000
\$2	\$2	21,000	42,000
\$1 DBL	\$2	21,000	42,000
\$4	\$4	7,880	31,520
\$2 DBL	\$4	8,000	32,000
\$10	\$10	2,800	28,000
\$5 DBL	\$10	2,800	28,000
\$20	\$20	1,000	20,000
\$10 DBL	\$20	1,000	20,000
\$40	\$40	140	5,600
\$20 DBL	\$40	140	5,600
\$100	\$100	100	10,000
\$500	\$500	24	12,000
\$1,000	\$1,000	8	8,000
TOTAL		147,892	\$326,720

(j) The odds of winning a prize in this game are approximately one in 4.06. (Authorized by K.S.A. 2015 Supp. 74-8710; implementing K.S.A. 2015 Supp. 74-8710 and 74-8720; effective, T-111-6-1-16, May 11, 2016.)

**111-4-3447.** "Hot 5s" instant ticket lottery game number 706. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Hot 5s." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3447.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THR
4	FOR
6	SIX

7	SVN
8	EGT
9	NIN
10	TEN
Symbol of a 5 (outlined)	WIN

Prize Symbols	Captions
FREE	TICKET
$$1^{.00}$	ONE\$
\$2 <sup>.00</sup>	TWO\$
$$4^{.00}$	FOUR\$
\$5.00	FIVE\$
\$10.00	TEN\$
\$20.00	TWENTY
\$50.00	FIFTY
\$100	ONEHUN
\$500	FIVHUN

(c) For this game, a play/prize symbol shall appear in 12 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.

(e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.

(f) In "Hot 5s," the player will scratch the play area to reveal six play symbols with a prize amount shown below each play symbol. If the player reveals a "5" symbol, the player wins the prize amount shown for that symbol.

(g) Each ticket in this game may win up to six times.

(h) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes In Game	Expected Value In Game
Free Ticket	Free Ticket	90,000	\$0
\$1	\$1	66,000	66,000
(\$1 x 2)	\$2	18,000	36,000
\$2	\$2	18,000	36,000
(\$2 x 2)	\$4	6,000	24,000
\$4	\$4	6,000	24,000
(\$1 x 5)	\$5	3,000	15,000
\$1 + (\$2 x 2)	\$5	3,000	15,000
\$5	\$5	3,000	15,000
(\$1 x 5) + \$5	\$10	3,000	30,000
(\$5 x 2)	\$10	1,500	15,000
\$10	\$10	1,500	15,000
(\$2 x 5) + \$10	\$20	1,500	30,000
(\$5 x 4)	\$20	750	15,000
\$20	\$20	750	15,000
(\$5 x 4) + \$10 + \$20	\$50	375	18,750
(\$10 x 5)	\$50	375	18,750
\$50	\$50	255	12,750
(\$10 x 5) + \$50	\$100	150	15,000
(\$50 x 2)	\$100	75	7,500
\$100	\$100	75	7,500

(\$100 x 5)	\$500	45	22,500
\$500	\$500	45	22,500
TOTAL		223,395	\$476,250

(j) The odds of winning a prize in this game are approximately one in 4.03. (Authorized by K.S.A. 2015 Supp. 74-8710; implementing K.S.A. 2015 Supp. 74-8710 and 74-8720; effective, T-111-6-1-16, May 11, 2016.)

111-4-3448. "Red Hot 5s" instant ticket lottery game number 707. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Red Hot 5s." The rules for this game are contained in K.A.R. 111-3-1 et seq. and 111-4-3448.

to reveal 10 play symbols with a prize amount shown to	
the right of each play symbol. If the player reveals a "5"	
symbol, the player wins the prize amount shown for that	
symbol. If the player reveals a "HOT" symbol, the player	
wins double the prize amount shown for that symbol.	

(g) Each ticket in this game may win up to 10 times.

(h) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

(b) The "play and prize symb this game are as follows:	-	0	Prize	Expected Number of Prizes In Game	Expected Value In Game
Play Symbols	Captions	Ener d'O Ti alvat	Free Ticket		
1	ONE	Free \$2 Ticket \$1 w/HOT	\$2		\$0 56.000
2	TWO	\$1 w/HO1 \$2	\$2 \$2	28,000 28,000	56,000 56,000
3	THR	\$2 w/HOT	\$2 \$4	8,000	32,000
4	FOR	\$4	\$4	8,000	32,000
6	SIX	\$1 + \$2 w/HOT	\$5	4,000	20,000
7	SVN	(\$1 x 5)	\$5	4,000	20,000
8	EGT	\$5	\$5	4,000	20,000
9	NIN	\$5 w/HOT	\$10	4,000	40,000
10	TEN	(\$2 x 5)	\$10	2,000	20,000
		\$10	\$10	2,000	20,000
11	ELEVN	\$5 w/HOT + \$5 w/HOT	\$20	4,000	80,000
12	TWELV	(\$2 x 10)	\$20	2,000	40,000
13	THRTN	\$20	\$20	2,000	40,000
14	FORTN	(\$5 x 2) + \$10 w/HOT	\$30	500	15,000
16	SIXTN	(\$10 x 3)	\$30	500	15,000
17	SVNTN	\$30	\$30	500	15,000
18	EGHTN	$($2 \times 5) + $10 \text{ w/HOT} +$	¢E0	500	25.000
19	NINTN	\$10 w/HOT (\$10 x 5)	\$50 \$50	500 300	25,000 15,000
20	TWNTY	(\$10 x 5) \$50	\$50 \$50	300	15,000
		\$50 w/HOT	\$100	50	5,000
Symbol of a 5 (outlined)	WIN	(\$10 x 10)	\$100	50	5,000
Symbol of HOT (outlined)	DOUBLE	\$100	\$100	50	5,000
		(\$100 x 3) + \$100 w/HOT	\$500	20	10,000
Prize Symbols	Captions	\$500	\$500	20	10,000
FREE	TICKET	\$500 w/HOT	\$1,000	10	10,000
\$1.00	ONE\$	\$1,000	\$1,000	10	10,000
\$2.00	TWO\$	\$10,000	\$10,000	4	40,000
\$4 <sup>.00</sup>	FOUR\$	TOTAL		162,814	\$671,000
\$5 <sup>.00</sup>	FIVE\$	(j) The odds of win	nning a pri	ize in this gan	ne are ap-

(j) The odds of winning a prize in this game are approximately one in 3.69. (Authorized by K.S.A. 2015 Supp. 74-8710; implementing K.S.A. 2015 Supp. 74-8710 and 74-8720; effective, T-111-6-1-16, May 11, 2016.)

111-4-3449. "White Hot 5s" instant ticket lottery game number 708. (a) The Kansas lottery may conduct an instant winner lottery game entitled "White Hot 5s." The rules for this game are contained in K.A.R. 111-3-1 et seq. and 111-4-3449.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THR

\$100	ONEHUN
\$500	FIVHUN
\$1,000	ONETHO
\$10.000	10-THOU

(c) For this game, a play/prize symbol shall appear in 20 play spots within the play area or areas.

TEN\$

TWENTY

THIRTY

FIFTY

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.

(e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.

(f) In "Red Hot 5s," the player will scratch the play area

 $$10^{.00}$ 

\$20.00

\$30.00

\$50.00

4	FOR
6	SIX
7	SVN
8	EGT
9	NIN
10	TEN
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
16	SIXTN
17	SVNTN
18	EGHTN
19	NINTN
20	TWNTY
21	TWYON
22	TWYTW
23	TWYTR
24	TWYFR
26	TWYSX
27	TWYSV
28	TWYET
29	TWYNI
30	THRTY
31	THYON
32	THYTW
33	THYTR
34	THYFR
36	THYSX
37	THYSV
38	THYET
39	THYNI
40	FORTY
Symbol of a 5 (outlined)	WIN
Symbol of HOT (outlined)	DOUBLE
Prize Symbols	Captions
FREE	TICKET
\$1.00	ONE\$

	IICIUI
\$1 <sup>.00</sup>	ONE\$
\$2 <sup>.00</sup>	TWO\$
\$5 <sup>.00</sup>	FIVE\$
\$10.00	TEN\$
\$15.00	FIFTN\$
\$20.00	TWENTY
\$25 <sup>.00</sup>	TWENFIV
$$40^{.00}$	FORTY
\$50.00	FIFTY
\$100	ONEHUN
\$500	FIVHUN
\$1,000	ONETHO
\$5,000	FIVTHO
\$25,000	25-THOU

(c) For this game, a play/prize symbol shall appear in 45 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.

(e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.

(f) "White Hot 5s" is a key number match game. The player will scratch the play area to reveal five "WIN-NING NUMBERS" and 20 "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBERS." If the player matches any of the "WINNING NUMBERS" to any of the "YOUR NUMBERS," the player wins the prize amount shown below the matching "YOUR NUMBERS." If the player reveals a "5" symbol, the player wins double the prize amount shown for that symbol. If the player reveals a "HOT" symbol, the player wins double the prize amount shown for that symbol.

(g) Each ticket in this game may win up to 20 times.

(h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

0	Prize	Expected Number of Prizes In Game	Expected Value In Game
Free \$5 Ticket	Free Ticket	15,000	\$0
\$1 + \$2 w/HOT	\$5	15,000	75,000
\$5	\$5	15,000	75,000
\$5 w/HOT	\$10	10,000	100,000
(\$5 x 2)	\$10	5,000	50,000
\$10	\$10	5,000	50,000
\$5 + \$5 w/HOT	\$15	5,000	75,000
(\$5 x 3)	\$15	2,500	37,500
\$15	\$15	2,500	37,500
\$5 w/HOT + \$5 w/HOT	\$20	2,500	50,000
(\$5 x 4)	\$20	1,250	25,000
\$20	\$20	1,250	25,000
\$5 + \$10 w/HOT	\$25	2,500	62,500
\$10 + \$15	\$25	1,250	31,250
\$25	\$25	1,250	31,250
(\$5 x 2) + \$10 w/HOT +			
\$10 w/HOT	\$50	500	25,000
(\$10 x 5)	\$50	375	18,750
\$50	\$50	375	18,750
(\$10 x 6) + \$20 w/HOT	\$100	125	12,500
(\$5 x 20)	\$100	100	10,000
(\$10 x 10)	\$100	75	7,500
\$100	\$100	75	7,500
(\$100 x 3) + \$50 w/HOT + \$50 w/HOT	\$500	25	12,500
(\$100 x 5)	\$500	25	12,500
$(\$20 \times 15) + (\$40 \times 5)$	\$500 \$500	15	7,500
\$500	\$500 \$500	10	5,000
\$500 w/HOT	\$1,000	5	5,000
(\$500 x 2)	\$1,000	5	5,000
(\$300 x 2) \$1,000	\$1,000	5	5,000 5,000
(\$5,000 x 5)	\$1,000 \$25,000	2	50,000
(\$5,000 x 5) \$25,000	\$25,000 \$25,000	1	25,000
TOTAL	φ <b>2</b> 3,000		
IUIAL		86,718	\$952,500

(j) The odds of winning a prize in this game are approximately one in 3.46. (Authorized by K.S.A. 2015 Supp. 74-8710; implementing K.S.A. 2015 Supp. 74-8710 and 74-8720; effective, T-111-6-1-16, May 11, 2016.)

## Article 9.-PULL-TAB GAMES

**111-9-216.** "Sweet'n the Pot" pull tab ticket lottery game number 630. (a) The Kansas lottery shall conduct a pull tab lottery game entitled "Sweet'n the Pot." The rules for this game are contained in K.A.R. 111-8-1 *et seq.* and K.A.R. 111-9-216.

(b) The price of pull tab tickets sold by a retailer for this game shall be \$1.00 each.

(c) Approximately 2,400,000 tickets shall be ordered initially for this pull tab game which shall be packaged in packs of 300 tickets each. The ticket numbers in each pack in this game shall start with 000 and end with 299. Additional ticket orders shall have the same prize structure, the same number of prizes per pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(d) The play symbols for this game are as follows:

Symbol of a honey pot Symbol of a bird Symbol of a butterfly Symbol of the sun Symbol of a flower Symbol of a bee

(e) For this game, three play symbols shall appear under each of four tabs on the back of each ticket. On the front of each ticket shall appear a legend of all winning combinations using the play symbols for this game along with the corresponding prize amount for each combination, as follows: three symbols of a honey pot equal \$1.00; three symbols of a bird equal \$5.00; three symbols of a butterfly equal \$10.00; three symbols of the sun equal \$25.00; three symbols of a flower equal \$100.00; three symbols of a bee equal \$1,000.00.

(f) All tabs on the back of each ticket are to be pulled open. For each combination of three play symbols matching the legend on the front of the ticket, the player wins the prize amount corresponding to each combination as shown in (e) above. All winning combinations shall be within a single window in a horizontal line.

(g) The number and value of prizes in this game and winning combinations shall be as follows: (See corresponding play symbol values in subsection (e) above.)

-r - or -j -j			(-) )
Get	Prizes	Expected Number of Prizes in Game	Expected Value in Game
\$1	\$1	444,000	\$444,000
\$5	\$5	80,000	400,000
\$1 + \$5	\$6	48,080	288,480
\$10	\$10	12,800	128,000
\$5 + \$10	\$15	3,520	52,800
\$5 + \$5 + \$5	\$15	3,200	48,000
\$25	\$25	1,600	40,000
\$10 + \$10 + \$5	\$25	1,880	47,000
\$10 + \$25	\$35	1,080	37,800
\$10 + \$10 + \$10 + \$5	\$35	1,080	37,800
\$100	\$100	360	36,000
\$1,000	\$1,000	24	24,000
TOTAL		597,624	\$1,583,880

(h) Each ticket in this game may have up to four winning combinations.

(i) The overall odds of winning a prize in this game are approximately one in 4.02. (Authorized by K.S.A. 2015 Supp. 74-8710; implementing K.S.A. 2015 Supp. 74-8710 and 74-8720; effective, T-111-6-1-16, May 11, 2016.)

**111-9-217.** "Chimp Change" pull tab ticket lottery game number 631. (a) The Kansas lottery shall conduct a pull tab lottery game entitled "Chimp Change." The rules for this game are contained in K.A.R. 111-8-1 *et seq.* and K.A.R. 111-9-217.

(b) The price of pull tab tickets sold by a retailer for this game shall be \$1.00 each.

(c) Approximately 2,400,000 tickets shall be ordered initially for this pull tab game which shall be packaged in packs of 300 tickets each. The ticket numbers in each pack in this game shall start with 000 and end with 299. Additional ticket orders shall have the same prize structure, the same number of prizes per pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(d) The play symbols for this game are as follows:

Symbol of a pineapple Symbol of a money bag Symbol of a banana Symbol of a leaf Symbol of a chimp Symbol of a coconut

(e) For this game, three play symbols shall appear under each of four tabs on the back of each ticket. On the front of each ticket shall appear a legend of all winning combinations using the play symbols for this game along with the corresponding prize amount for each combination, as follows: three symbols of a pineapple equal \$1.00; three symbols of a money bag equal \$5.00; three symbols of a banana equal \$10.00; three symbols of a leaf equal \$25.00; three symbols of a coconut equal \$1,000.00.

(f) All tabs on the back of each ticket are to be pulled open. For each combination of three play symbols matching the legend on the front of the ticket, the player wins the prize amount corresponding to each combination as shown in (e) above. All winning combinations shall be within a single window in a horizontal line.

(g) The number and value of prizes in this game and winning combinations shall be as follows: (See corresponding play symbol values in subsection (e) above.)

		( )	
Get	Prizes	Expected Number of Prizes in Game	Expected Value in Game
\$1	\$1	444,000	\$444,000
\$5	\$5	80,000	400,000
\$1 + \$5	\$6	48,080	288,480
\$10	\$10	12,800	128,000
\$5 + \$10	\$15	3,520	52,800
\$5 + \$5 + \$5	\$15	3,200	48,000
\$25	\$25	1,600	40,000
\$10 + \$10 + \$5	\$25	1,880	47,000
\$10 + \$25	\$35	1,080	37,800
\$10 + \$10 + \$10 + \$5	\$35	1,080	37,800
\$100	\$100	360	36,000
\$1,000	\$1,000	24	24,000
TOTAL		597,624	\$1,583,880

(h) Each ticket in this game may have up to four winning combinations.

(i) The overall odds of winning a prize in this game are approximately one in 4.02. (Authorized by K.S.A. 2015 Supp. 74-8710; implementing K.S.A. 2015 Supp. 74-8710 and 74-8720; effective, T-111-6-1-16, May 11, 2016.)

> Terry P. Presta Executive Director

Doc. No. 044604

#### INDEX TO ADMINISTRATIVE REGULATIONS

This index lists in numerical order the new, amended and revoked administrative regulations and the volume and page number of the *Kansas Register* issue in which more information can be found. Temporary regulations are designated with a (T) in the Action column. This cumulative index supplements the 2009 Volumes of the *Kansas Administrative Regulations* and the 2015 Supplement of the *Kansas Administrative Regulations*.

#### AGENCY 1: DEPARTMENT OF ADMINISTRATION

Reg. No.	Action	Register
1-16-4	Amended	V. 35, p. 44
1-16-8	Amended	V. 35, p. 44
1-16-15	Amended	V. 35, p. 45
1-16-18	Amended	V. 35, p. 45
1-16-18a	Amended	V. 35, p. 46
1-45-22	Amended	V. 34, p. 1227

#### AGENCY 4: DEPARTMENT OF AGRICULTURE

Reg. No.	Action	Register
4-5-1	Revoked	V. 35, p. 238
4-5-2	Revoked	V. 35, p. 238
4-5-4	New	V. 35, p. 238

#### AGENCY 5: DEPARTMENT OF AGRICULTURE – DIVISION OF WATER RESOURCES

Reg. No.	Action	Register
5-1-1	Amended	V. 35, p. 308
5-12-1	Amended	V. 35, p. 313
5-21-6	Amended	V. 35, p. 431
5-22-7	Amended	V. 35, p. 199
5-23-4	Amended	V. 35, p. 385
5-23-4b	Revoked	V. 35, p. 386
5-24-2	Amended	V. 35, p. 386
5-25-21	New	V. 35, p. 200

#### **AGENCY 7: SECRETARY OF STATE**

Reg. No.	Action	Register
7-23-14	Amended	V. 34, p. 1032
7-23-15	New	V 34 p 1033

#### AGENCY 9: DEPARTMENT OF AGRICULTURE-DIVISION OF ANIMAL HEALTH

Reg. No.	Action	Register
9-7-4	Amended	V. 35, p. 428
9-7-4a	Amended	V. 35, p. 428
9-18-31	New	V. 35, p. 313
9-26-1	Revoked	V. 35, p. 314

#### AGENCY 14: DEPARTMENT OF REVENUE – DIVISION OF ALCOHOLIC BEVERAGE CONTROL

DEV	ENAGECO	NIKOL	
<b>Reg. No.</b> 14-19-40 14-19-40 14-20-42 14-20-42 14-21-23 14-21-23	Action New (T) New (T) New (T) New (T) New	<b>Register</b> V. 34, p. 824 V. 34, p. 1053 V. 34, p. 825 V. 34, p. 1054 V. 34, p. 825 V. 34, p. 1054	
AGENCY 1	6: ATTORN	EY GENERAL	
<b>Reg. No.</b> 16-14-1	Action	Register	
through 16-14-9 16-14-1 through	New (T)	V. 34, p. 962, 963	
16-14-9	New V	. 34, p. 1228, 1229	
		ENT OF HEALTH	
		Register           V. 34, p. 420           V. 34, p. 190           V. 34, p. 194           V. 34, p. 196           V. 34, p. 196           V. 34, p. 197           V. 34, p. 199           V. 34, p. 200           V. 35, p. 566           V. 35, p. 567           V. 35, p. 567           V. 35, p. 567           V. 35, p. 383           V. 35, p. 383           V. 35, p. 383           V. 35, p. 384           DEPARTMENT           DFAMILLES           Register           V. 35, p. 46	
30-44-2	Amended	V. 35, p. 63	
30-44-6 New V. 35, p. 63 AGENCY 40: KANSAS INSURANCE DEPARTMENT			
Reg. No. 40-1-28 40-1-37 40-1-48 40-2-18 40-2-20 40-4-29a 40-4-34 40-4-37e 40-9-118 40-9-126	Action Amended Amended Amended Amended Amended Amended Amended Amended New	Register V. 34, p. 216 V. 34, p. 120 V. 34, p. 120 V. 35, p. 405 V. 34, p. 1202 V. 34, p. 1202 V. 34, p. 996 V. 35, p. 384 V. 34, p. 120 V. 34, p. 103 V. 34, p. 103	

### AGENCY 60: BOARD OF NURSING

Reg. No.	Action	Register
60-2-101	Amended	V. 35, p. 322
60-3-102	Amended	V. 35, p. 323
60-3-103	Amended	V. 35, p. 323
60-3-110	Amended	V. 35, p. 323
60-3-113	Amended	V. 35, p. 324
60-4-103	Amended	V. 34, p. 260
60-7-102	Amended	V. 35, p. 324
60-7-106	Amended	V. 35, p. 324
60-9-105	Amended	V. 35, p. 325
60-9-106	Amended	V. 35, p. 326
60-17-102	Amended	V. 35, p. 327

#### AGENCY 61: BOARD OF BARBERING

Reg. No.	Action	Register
61-3-7	Amended	V. 35, p. 384
61-3-22	Amended	V. 34, p. 190
61-7-1	Revoked	V. 35, p. 385
61-7-2	New	V. 35, p. 385

#### AGENCY 65: BOARD OF EXAMINERS IN OPTOMETRY

Reg. No.	Action	Register
65-5-6	Amended	V. 34, p. 480
65-5-10	Revoked	V. 34, p. 481
65-5-11	Revoked	V. 34, p. 481
65-5-13	New	V. 34, p. 481

#### AGENCY 66: BOARD OF TECHNICAL PROFFESSIONS

Reg. No.	Action	Register
66-6-1	Amended	V. 35, p. 455
66-14-1	Amended	V. 34, p. 617
66-14-2	Amended	V. 34, p. 617
66-14-3	Amended	V. 34, p. 618
66-14-5	Amended	V. 34, p. 618
66-14-7	Amended	V. 34, p. 618
66-14-10	Amended	V. 34, p. 618
66-14-11	Amended	V. 34, p. 619

#### AGENCY 68: BOARD OF PHARMACY

<b>Reg. No.</b> 68-2-22 68-7-22 68-16-1 through	<b>Action</b> Amended New	<b>Register</b> V. 34, p. 70 V. 35, p. 427
68-16-9 68-20-10a 68-20-31 68-20-31	Revoked Amended New (T) New	V. 34, p. 70 V. 34, p. 70 V. 34, p. 103 V. 34, p. 480
ACENCY (0, POARD OF		

#### AGENCY 69: BOARD OF COSMETOLOGY

Reg. No.	Action	Register
69-11-1	Amended	V. 34, p. 996
69-15-1	Amended	V. 34, p. 996
69-15-14	Amended	V. 34, p. 997
69-15-30	Amended	V. 34, p. 998

## Vol. 35, No. 24, June 16, 2016

# Kansas Register \_

AGENCY 70: DEPARTMENT OF
AGRICULTURE, BOARD OF
VETERINARY EXAMINERS

VETERINARY EXAMINERS			
<b>Reg. No.</b> 70-5-1	Action Amended	<b>Register</b> V. 35, p. 428	
AGENCY 71: KANSAS DENTAL BOARD			
<b>Reg. No.</b> 71-6-5	Action Amended	<b>Register</b> V. 35, p. 140	
AGENCY 74: BOARD OF ACCOUNTANCY			
Reg. No.	Action	Register	
74-1-3	Amended	V. 35, p. 84	
74-1-4	Amended	V. 35, p. 84	
74-2-7 74-4-8	Amended Amended	V. 35, p. 85 V. 35, p. 85	
74-4-9	Amended	V. 35, p. 86	
74-5-2	Amended	V. 35, p. 87	
74-5-2a	Amended	V. 35, p. 88	
74-5-2b	New	V. 35, p. 88	
74-5-101			
through 74-5-104	Amended	V. 35, p. 88, 89	
74-5-201	7 michaea	v. 66, p. 66, 69	
through			
74-5-203	Amended	V. 35, p. 89	
74-5-301	Amended	V. 35, p. 90	
74-5-401	Amended	V. 35, p. 90	
74-5-403 74-5-405a	Amended Amended	V. 35, p. 90 V. 35, p. 90	
74-5-406	Amended	V. 35, p. 90	
74-5-407	Amended	V. 35, p. 91	
74-11-6	Amended	V. 35, p. 91	
74-11-7	Amended	V. 35, p. 91	
74-15-1	Amended	V. 35, p. 92	
	CY 81: OFFFIC TIES COMM		
Reg. No.	Action	Register	
81-1-1	Amended	V. 34, p. 1301	
81-2-1	Amended	V. 34, p. 1303	
81-3-1 81-3-2	Amended Amended	V. 34, p. 1304 V. 34, p. 1052	
81-3-5	Amended	V. 34, p. 1305	
81-3-6	Amended	V. 34, p. 1306	
81-3-7	Amended	V. 34, p. 1310	
81-4-1	Amended	V. 34, p. 1311	
81-4-4 81-5-7	Amended Amended	V. 34, p. 1312 V. 34, p. 1312	
81-5-15	Amended	V. 34, p. 1312 V. 34, p. 1312	
81-5-17	Amended	V. 34, p. 1313	
81-5-21	Amended	V. 34, p. 1313	
81-6-1	Amended	V. 34, p. 1313	
81-7-1	Amended	V. 34, p. 1314	
81-7-2 81-14-1	Amended Amended	V. 34, p. 1314 V. 34, p. 1315	
81-14-2	Amended	V. 34, p. 1052	
81-14-5	Amended	V. 34, p. 1316	
81-14-11	Amended	V. 34, p. 1321	
81-21-1	Revoked	V. 34, p. 1053	
81-22-1 81-22-3	Revoked Revoked	V. 34, p. 1053 V. 34, p. 1053	
81-22-3	Revoked	V. 34, p. 1053 V. 34, p. 1053	
81-24-2	Revoked	V. 34, p. 1053	
81-24-3	Revoked	V. 34, p. 1053	
81-25-4	Revoked	V. 34, p. 1053	
81-26-1	Revoked	V. 34, p. 1053	
81-26-2 81-27-1	Revoked Revoked	V. 34, p. 1053 V. 34, p. 1053	
		···, p· 1000	

AGENCY 82: STATE CORPORATION COMMISSION		
Reg. No.	Action	Register
82-2-402	Revoked	V. 34, p. 900
82-2-506	Revoked	V. 34, p. 900
82-2-507	Revoked	V. 34, p. 900
82-3-100	Amended	V. 34, p. 900
82-3-106	Amended	V. 34, p. 900
	Amended	V. 34, p. 900 V. 24, p. 901
82-3-109		V. 34, p. 901
82-3-203	Amended	V. 34, p. 902
82-3-207	Amended	V. 34, p. 902
82-3-208	Amended	V. 34, p. 902
82-3-209	Amended	V. 34, p. 902
82-3-304	Amended	V. 34, p. 1100
82-3-312	Amended	V. 34, p. 903
82-3-1100		
through		
82-3-1120	Revoked	V. 34, p. 903
82-4-1	Amended	V. 35, p. 357
82-4-2a	Amended	V. 35, p. 359
82-4-3a	Amended (T)	V. 34, p. 373
82-4-3a	Amended	V. 34, p. 846
82-4-3f	Amended	V. 34, p. 515
	Amended	V. 34, p. 518
82-4-3g 82-4-3h		V. 34, p. 310
	Amended	V. 35, p. 359
82-4-3i	Amended	V. 35, p. 360
82-4-3j	Amended	V. 35, p. 362
82-4-3k	Amended	V. 35, p. 363
82-4-3n	Amended	V. 35, p. 364
82-4-30	Amended	V. 35, p. 366
82-4-8a	Amended	V. 35, p. 366
82-4-20	Amended	V. 35, p. 366
AGENCY	85: ABSTRACTEI OF EXAMINERS	
Reg. No.	Action	Register
85-4-1	Amended	V. 34, p. 177
85-7-1	Amended	V. 34, p. 177
00-7-1	Amenueu	v. 34, p. 177
	NOVOC DELL DO	
AGE	NCY 86: REAL ES COMMISSION	STATE
AGE Reg. No. 86-1-5		Register
<b>Reg. No.</b> 86-1-5	COMMISSION Action Amended	<b>Register</b> V. 34, p. 1159
<b>Reg. No.</b> 86-1-5	COMMISSION Action	<b>Register</b> V. 34, p. 1159
<b>Reg. No.</b> 86-1-5	COMMISSION Action Amended ( 88: BOARD OF ) Action	Register V. 34, p. 1159 REGENTS Register
Reg. No. 86-1-5 AGENCY	COMMISSION Action Amended ( 88: BOARD OF )	<b>Register</b> V. 34, p. 1159 <b>REGENTS</b> <b>Register</b> V. 34, p. 961
Reg. No. 86-1-5 AGENCY Reg. No.	COMMISSION Action Amended ( 88: BOARD OF ) Action Amended (T) Amended	<b>Register</b> V. 34, p. 1159 <b>REGENTS</b> <b>Register</b> V. 34, p. 961 V. 34, p. 1266
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a	COMMISSION Action Amended ( 88: BOARD OF ) Action Amended (T) Amended	<b>Register</b> V. 34, p. 1159 <b>REGENTS</b> <b>Register</b> V. 34, p. 961 V. 34, p. 1266
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a	COMMISSION Action Amended ( 88: BOARD OF ) Action Amended (T)	<b>Register</b> V. 34, p. 1159 <b>REGENTS</b> <b>Register</b> V. 34, p. 961 V. 34, p. 1266 V. 34, p. 961
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-8a 88-3-12	COMMISSION Action Amended X 88: BOARD OF Action Amended (T) Amended Revoked (T)	<b>Register</b> V. 34, p. 1159 <b>REGENTS</b> <b>Register</b> V. 34, p. 961 V. 34, p. 961 V. 34, p. 961 V. 34, p. 1267
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12	COMMISSION Action Amended (* 88: BOARD OF 1 Action Amended (T) Amended Revoked (T) Revoked	<b>Register</b> V. 34, p. 1159 <b>REGENTS</b> <b>Register</b> V. 34, p. 961 V. 34, p. 1266 V. 34, p. 961
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-3-12 88-24-2 88-26-1	COMMISSION Action Amended (* 88: BOARD OF 1 Action Amended (T) Amended Revoked (T) Revoked	<b>Register</b> V. 34, p. 1159 <b>REGENTS</b> <b>Register</b> V. 34, p. 961 V. 34, p. 961 V. 34, p. 961 V. 34, p. 1267
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-3-12 88-24-2 88-26-1 through	COMMISSION Action Amended ( 88: BOARD OF Action Amended (T) Amended Revoked (T) Revoked Amended	<b>Register</b> V. 34, p. 1159 <b>REGENTS</b> <b>Register</b> V. 34, p. 961 V. 34, p. 961 V. 34, p. 961 V. 34, p. 1267 V. 34, p. 247
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-3-12 88-24-2 88-26-1 through 88-26-8	COMMISSION Action Amended (7 88: BOARD OF 1 Action Amended (T) Amended Revoked (T) Revoked Amended Amended	<b>Register</b> V. 34, p. 1159 <b>REGENTS</b> <b>Register</b> V. 34, p. 961 V. 34, p. 961 V. 34, p. 961 V. 34, p. 1267 V. 34, p. 1267 V. 34, p. 247
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-3-12 88-24-2 88-24-2 88-26-1 through 88-26-8 88-26-7	COMMISSION Action Amended (7 88: BOARD OF 1 Action Amended (T) Amended Revoked (T) Revoked Amended Amended V. Amended (T)	Register           V. 34, p. 1159           REGENTS           Register           V. 34, p. 961           V. 34, p. 1266           V. 34, p. 961           V. 34, p. 1267           V. 34, p. 247           34, p. 247-250           V. 34, p. 961
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-3-12 88-3-12 88-24-2 88-26-1 through 88-26-8 88-26-7 88-26-7	COMMISSION Action Amended (7 88: BOARD OF 1 Action Amended (T) Amended Revoked (T) Revoked Amended Amended	<b>Register</b> V. 34, p. 1159 <b>REGENTS</b> <b>Register</b> V. 34, p. 961 V. 34, p. 961 V. 34, p. 961 V. 34, p. 1267 V. 34, p. 1267 V. 34, p. 247
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-26-1 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7	COMMISSION Action Amended (7 88: BOARD OF 1 Action Amended (T) Amended Revoked (T) Revoked Amended Amended V. Amended (T)	Register           V. 34, p. 1159           REGENTS           Register           V. 34, p. 961           V. 34, p. 1266           V. 34, p. 961           V. 34, p. 1267           V. 34, p. 247           34, p. 247-250           V. 34, p. 961
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-3-12 88-3-12 88-24-2 88-26-1 through 88-26-7 88-26-7 88-26-7 88-26-7 88-26-9 through	COMMISSION Action Amended ( 88: BOARD OF Action Amended (T) Amended Revoked (T) Revoked Amended Amended V. Amended (T) Amended (T)	Register           V. 34, p. 1159           REGENTS           Register           V. 34, p. 961           V. 34, p. 1266           V. 34, p. 1267           V. 34, p. 247           34, p. 247-250           V. 34, p. 1267           V. 34, p. 247
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-24-2 88-24-2 88-26-1 through 88-26-7 88-26-7 88-26-7 88-26-9 through 88-26-16	COMMISSION Action Amended ( 88: BOARD OF Action Amended (T) Amended Revoked (T) Revoked Amended Amended V. Amended (T) Amended (T) Amended	Register           V. 34, p. 1159           REGENTS           Register           V. 34, p. 961           V. 34, p. 1266           V. 34, p. 1267           V. 34, p. 247           34, p. 247-250           V. 34, p. 961           V. 34, p. 1267           V. 34, p. 247-250           V. 34, p. 1267           V. 34, p. 250
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-24-2 88-26-1 through 88-26-8 88-26-7 88-26-7 88-26-7 88-26-7 88-26-9 through 88-26-16 88-28-6	COMMISSION Action Amended ( 88: BOARD OF Action Amended (T) Amended Revoked (T) Revoked Amended Amended (T) Amended (T) Amended (T) Amended Revoked Amended	Register           V. 34, p. 1159           REGENTS           Register           V. 34, p. 961           V. 34, p. 1266           V. 34, p. 1267           V. 34, p. 1267           V. 34, p. 247           34, p. 247-250           V. 34, p. 961           V. 34, p. 1267           V. 34, p. 250           V. 34, p. 250           V. 34, p. 250
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-3-12 88-24-2 88-26-1 through 88-26-8 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-9 through 88-26-16 88-28-6 88-29-1	COMMISSION Action Amended ( 88: BOARD OF Action Amended (T) Amended Revoked (T) Revoked Amended (T) Amended (T) Amended (T) Amended (T) Amended Revoked Amended Amended	Register           V. 34, p. 1159           REGENTS           Register           V. 34, p. 961           V. 34, p. 1266           V. 34, p. 1267           V. 34, p. 1267           V. 34, p. 247           34, p. 247-250           V. 34, p. 961           V. 34, p. 1267           V. 34, p. 250           V. 34, p. 250           V. 34, p. 313
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-3-12 88-24-2 88-26-1 through 88-26-8 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-9 through 88-26-16 88-28-6 88-29-1 88-29-5	COMMISSION Action Amended (* 88: BOARD OF Action Amended (T) Amended Revoked (T) Revoked Amended (T) Amended (T) Amended (T) Amended (T) Amended Amended Amended Amended Amended Amended	Register V. 34, p. 1159 REGENTS Register V. 34, p. 961 V. 34, p. 961 V. 34, p. 961 V. 34, p. 1267 V. 34, p. 1267 V. 34, p. 247 34, p. 247-250 V. 34, p. 961 V. 34, p. 961 V. 34, p. 1267 V. 34, p. 250 V. 34, p. 250 V. 34, p. 313 V. 34, p. 314
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-3-12 88-3-12 88-26-1 88-26-1 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-9 through 88-26-16 88-29-1 88-29-5 88-29-6	COMMISSION Action Amended (* 88: BOARD OF Action Amended (T) Amended Revoked (T) Revoked Amended (T) Amended (T) Amended (T) Amended (T) Amended Revoked Amended Amended Amended Amended Amended Amended	Register           V. 34, p. 1159           REGENTS           Register           V. 34, p. 961           V. 34, p. 1266           V. 34, p. 1267           V. 34, p. 1267           V. 34, p. 247           34, p. 247-250           V. 34, p. 961           V. 34, p. 250           V. 34, p. 250           V. 34, p. 250           V. 34, p. 313           V. 34, p. 314
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-3-12 88-24-2 88-26-1 through 88-26-8 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-9 through 88-26-16 88-28-6 88-29-1 88-29-5	COMMISSION Action Amended (* 88: BOARD OF Action Amended (T) Amended Revoked (T) Revoked Amended (T) Amended (T) Amended (T) Amended (T) Amended Amended Amended Amended Amended Amended	Register           V. 34, p. 1159           REGENTS           Register           V. 34, p. 961           V. 34, p. 1266           V. 34, p. 1267           V. 34, p. 1267           V. 34, p. 247           34, p. 247-250           V. 34, p. 961           V. 34, p. 250           V. 34, p. 250           V. 34, p. 250           V. 34, p. 313           V. 34, p. 314           V. 34, p. 314
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-24-2 88-24-2 88-26-1 through 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-16 88-28-6 88-29-1 88-29-5 88-29-7 88-29-7	COMMISSION Action Amended (* 88: BOARD OF Action Amended (T) Amended Revoked (T) Revoked Amended (T) Amended (T) Amended (T) Amended (T) Amended Revoked Amended Amended Amended Amended Amended Amended	Register           V. 34, p. 1159           REGENTS           Register           V. 34, p. 961           V. 34, p. 1266           V. 34, p. 1267           V. 34, p. 1267           V. 34, p. 247           34, p. 247-250           V. 34, p. 961           V. 34, p. 250           V. 34, p. 250           V. 34, p. 250           V. 34, p. 313           V. 34, p. 314
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-24-2 88-24-2 88-26-1 through 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-16 88-28-6 88-29-1 88-29-5 88-29-7 88-29-7	COMMISSION Action Amended (88: BOARD OF Action Amended (T) Amended Revoked (T) Revoked Amended (T) Amended (T) Amended (T) Amended (T) Amended Amended Amended Amended Amended Amended Amended Amended Amended	Register           V. 34, p. 1159           REGENTS           Register           V. 34, p. 961           V. 34, p. 1266           V. 34, p. 1267           V. 34, p. 1267           V. 34, p. 247           34, p. 247-250           V. 34, p. 961           V. 34, p. 250           V. 34, p. 250           V. 34, p. 250           V. 34, p. 313           V. 34, p. 313           V. 34, p. 314           V. 34, p. 315           V. 34, p. 315
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-3-12 88-24-2 88-26-1 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-16 88-29-1 88-29-5 88-29-6 88-29-7	COMMISSION Action Amended (7 88: BOARD OF Action Amended (T) Amended Revoked (T) Revoked Amended (T) Amended (T) Amended (T) Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	Register           V. 34, p. 1159           REGENTS           Register           V. 34, p. 961           V. 34, p. 1266           V. 34, p. 1267           V. 34, p. 247           34, p. 247-250           V. 34, p. 1267           V. 34, p. 247           34, p. 247-250           V. 34, p. 1267           V. 34, p. 1267           V. 34, p. 313           V. 34, p. 250           V. 34, p. 250           V. 34, p. 313           V. 34, p. 313           V. 34, p. 314           V. 34, p. 315           V. 34, p. 315           V. 34, p. 315           V. 34, p. 315
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-24-2 88-24-2 88-26-1 through 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-16 88-29-1 88-29-5 88-29-7 88-29-7 88-29-7a 88-29-7a 88-29-7a	COMMISSION Action Amended ( 88: BOARD OF Action Amended (T) Amended Revoked (T) Revoked Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	Register           V. 34, p. 1159           REGENTS           Register           V. 34, p. 961           V. 34, p. 1266           V. 34, p. 1267           V. 34, p. 1267           V. 34, p. 247           34, p. 247-250           V. 34, p. 1267           V. 34, p. 1267           V. 34, p. 250           V. 34, p. 250           V. 34, p. 313           V. 34, p. 313           V. 34, p. 315
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-24-2 88-26-1 through 88-26-1 through 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-16 88-28-6 88-29-1 88-29-5 88-29-7 88-29-7 88-29-11 88-29a-1 88-29a-1 88-29a-5	COMMISSION Action Amended (88: BOARD OF) Amended (T) Amended Revoked (T) Revoked Amended Amended (T) Amended (T) Amended	Register           V. 34, p. 1159           REGENTS           Register           V. 34, p. 961           V. 34, p. 1266           V. 34, p. 1267           V. 34, p. 1267           V. 34, p. 247           34, p. 247-250           V. 34, p. 1267           V. 34, p. 250           V. 34, p. 250           V. 34, p. 313           V. 34, p. 313           V. 34, p. 314           V. 34, p. 315           V. 34, p. 315           V. 34, p. 315           V. 34, p. 315           V. 34, p. 316           V. 34, p. 318
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-24-2 88-26-1 through 88-26-1 through 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-16 88-28-6 88-29-1 88-29-5 88-29-7 88-29-7 88-29-7 88-29-7 88-29-7 88-29-1 1 88-29-5 88-29-1 88-29-5 88-29-5 88-29-5 88-29-5	COMMISSION Action Amended (188: BOARD OF) Amended (T) Amended Revoked (T) Revoked Amended Amended (T) Amended (T) Amended (T) Amended (T) Amended	Register           V. 34, p. 1159           REGENTS           Register           V. 34, p. 961           V. 34, p. 1266           V. 34, p. 1267           V. 34, p. 1267           V. 34, p. 247           34, p. 247-250           V. 34, p. 1267           V. 34, p. 250           V. 34, p. 250           V. 34, p. 313           V. 34, p. 313           V. 34, p. 314           V. 34, p. 315           V. 34, p. 318
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-24-2 88-26-1 through 88-26-8 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-16 88-29-1 88-29-5 88-29-5 88-29-7a 88-29-7a 88-29-7a 88-29-7a 88-29-7a 88-29-11 88-29a-1 88-29a-5 88-29a-6 88-29a-7	COMMISSION Action Amended (7.88: BOARD OF) Amended (T) Amended (T) Amended (T) Revoked (T) Revoked (T) Amended (T)	Register V. 34, p. 1159 REGENTS Register V. 34, p. 961 V. 34, p. 961 V. 34, p. 961 V. 34, p. 961 V. 34, p. 1267 V. 34, p. 247 34, p. 247-250 V. 34, p. 247 34, p. 247-250 V. 34, p. 961 V. 34, p. 961 V. 34, p. 961 V. 34, p. 250 V. 34, p. 250 V. 34, p. 313 V. 34, p. 314 V. 34, p. 315 V. 34, p. 315 V. 34, p. 315 V. 34, p. 315 V. 34, p. 318 V. 34, p. 318 V. 34, p. 318 V. 34, p. 318 V. 34, p. 318
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-24-2 88-26-1 through 88-26-8 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-16 88-29-1 88-29-5 88-29-6 88-29-7 88-29-7 88-29a-1 88-29a-7 88-29a-7 88-29a-7 88-29a-7	COMMISSION Action Amended (7 88: BOARD OF) Amended (T) Amended (T) Amended (T) Revoked (T) Revoked Amended (T) Amended (T) Amended (T) Amended (T) Amended (T) Amended (T) Amended Ame	Register           V. 34, p. 1159           REGENTS           Register           V. 34, p. 961           V. 34, p. 1266           V. 34, p. 1267           V. 34, p. 247           34, p. 247-250           V. 34, p. 1267           V. 34, p. 1267           V. 34, p. 1267           V. 34, p. 1267           V. 34, p. 313           V. 34, p. 314           V. 34, p. 315           V. 34, p. 315           V. 34, p. 315           V. 34, p. 315           V. 34, p. 318           V. 34, p. 319
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-3-12 88-24-2 88-26-1 through 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-29-1 88-29-5 88-29-7 88-29-7 88-29a-5 88-29a-7	COMMISSION Action Amended (* 88: BOARD OF Action Amended (T) Amended Revoked (T) Revoked Amended	Register           V. 34, p. 1159           REGENTS           Register           V. 34, p. 961           V. 34, p. 1266           V. 34, p. 1267           V. 34, p. 247           34, p. 247-250           V. 34, p. 1267           V. 34, p. 1267           V. 34, p. 250           V. 34, p. 250           V. 34, p. 313           V. 34, p. 313           V. 34, p. 315           V. 34, p. 318           V. 34, p. 318           V. 34, p. 318           V. 34, p. 319           V. 34, p. 319
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-24-2 88-26-1 through 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-16 88-29-1 88-29-5 88-29-5 88-29-7 88-29-7 88-29-7 88-29a-7 88-29a-7 88-29a-7 88-29a-7 88-29a-7 88-29a-7 88-29a-7 88-29b-1 88-29b-1	COMMISSION Action Amended (88: BOARD OF) Amended (T) Amended Revoked (T) Revoked Amended	Register           V. 34, p. 1159           REGENTS           Register           V. 34, p. 961           V. 34, p. 1266           V. 34, p. 1267           V. 34, p. 247           34, p. 247-250           V. 34, p. 1267           V. 34, p. 250           V. 34, p. 250           V. 34, p. 250           V. 34, p. 313           V. 34, p. 313           V. 34, p. 315           V. 34, p. 318           V. 34, p. 318           V. 34, p. 319           V. 34, p. 319           V. 34, p. 319
Reg. No. 86-1-5 AGENCY Reg. No. 88-3-8a 88-3-8a 88-3-12 88-3-12 88-3-12 88-24-2 88-26-1 through 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-26-7 88-29-1 88-29-5 88-29-7 88-29-7 88-29a-5 88-29a-7	COMMISSION Action Amended (* 88: BOARD OF Action Amended (T) Amended Revoked (T) Revoked Amended	Register           V. 34, p. 1159           REGENTS           Register           V. 34, p. 961           V. 34, p. 1266           V. 34, p. 1267           V. 34, p. 247           34, p. 247-250           V. 34, p. 1267           V. 34, p. 1267           V. 34, p. 250           V. 34, p. 250           V. 34, p. 313           V. 34, p. 313           V. 34, p. 315           V. 34, p. 318           V. 34, p. 318           V. 34, p. 318           V. 34, p. 319           V. 34, p. 319

88-29b-7 88-29b-7a	Amended Amended	V. 34, p. 323 V. 34, p. 324	
AGENCY 91: DEPARTMENT OF EDUCATION			
<b>Reg. No.</b> 91-42-1 91-42-1 91-42-2 91-42-2 91-42-3	Action Amended (T) Amended Amended (T) Amended	V. 35, p. 486	
through 91-42-7 91-42-3 through	New (T)	V. 35, p. 164-166	
91-42-7	New	V. 35, p. 487-489	
AGENCY 92: DEPARTMENT OF REVENUE			
<b>Reg. No.</b> 92-23-9	Action	Register	
92-23-9 through 92-23-23 92-23-25 92-23-30 92-23-31 92-23-37	Action Revoked Revoked Revoked Revoked	<b>Register</b> V. 35, p. 63, 64 V. 35, p. 64 V. 35, p. 64 V. 35, p. 64	
92-23-9 through 92-23-23 92-23-25 92-23-30 92-23-31 92-23-37 through 92-23-40 92-23-41	Revoked Revoked Revoked	V. 35, p. 63, 64 V. 35, p. 64 V. 35, p. 64 V. 35, p. 64	
92-23-9 through 92-23-23 92-23-25 92-23-30 92-23-31 92-23-37 through 92-23-40	Revoked Revoked Revoked Revoked	V. 35, p. 63, 64 V. 35, p. 64 V. 35, p. 64 V. 35, p. 64	

#### **AGENCY 93: DEPARTMENT OF REVENUE-DIVISION OF PROPERTY** VALUATION

Reg. No.	Action	Register
93-6-3	Amended	V. 35, p. 357
93-9-1	New	V. 34, p. 260
A CENCY 100, POARD OF		

#### AGENCY 100: BOARD OF HEALING ARTS

Reg. No.	Action	Register
100-28a-1a	New (T)	V. 34, p. 1334
100-28a-1a	New	V. 35, p. 353
100-28a-6	Amended (T)	V. 34, p. 1334
100-28a-6	Amended	V. 35, p. 353
100-28a-9	Amended (T)	V. 34, p. 1335
100-28a-9	Amended	V. 35, p. 354
100-28a-9a	New (T)	V. 34, p. 1335
100-28a-9a	New	V. 35, p. 354
100-28a-10	Amended (T)	V. 34, p. 1335
100-28a-10	Amended	V. 35, p. 354
100-28a-11	Amended (T)	V. 34, p. 1336
100-28a-11	Amended	V. 35, p. 355
100-28a-12	Amended (T)	V. 34, p. 1336
100-28a-12	Amended	V. 35, p. 355
100-28a-13	Amended (T)	V. 34, p. 1336
100-28a-13	Amended	V. 35, p. 355
100-28a-14	Amended (T)	V. 34, p. 1337
100-28a-14	Amended	V. 35, p. 356
100-28a-15	Amended (T)	V. 34, p. 1337
100-28a-15	Amended	V. 35, p. 356
100-28a-17	Amended (T)	V. 34, p. 1337
100-28a-17	Amended	V. 35, p. 356
100-29-9	Amended	V. 35, p. 387
100-29-16	Amended	V. 35, p. 388
100-54-7	Amended	V. 35, p. 389
100-54-12	New	V. 35, p. 390

Revoked

Revoked

Revoked

V. 34, p. 1053 V. 34, p. 1053 V. 34, p. 1053 V. 34, p. 1053

V. 34, p. 1053

81-27-2

81-29-1

81-29-2

#### AGENCY 105: BOARD OF INDIGENTS' DEFENSE SERVICES

DEFENSE SERVICES					
<b>Reg. No.</b> 105-5-2 105-5-3 105-5-6 105-5-7 105-5-8 105-11-1	Action Amended Amended Amended Amended Amended	<b>Register</b> V. 34, p. 1248 V. 34, p. 1248 V. 34, p. 1248 V. 34, p. 1249 V. 34, p. 1249 V. 34, p. 1249 V. 34, p. 1249			
AGENCY 109: BOARD OF EMERGENCY MEDICAL SERVICES					
Reg. No. 109-1-1 109-2-1 109-2-2 109-2-6 109-2-7 109-2-8 109-2-11 109-5-1	Action Amended Amended Amended Amended Amended Amended Amended	Register V. 35, p. 314 V. 35, p. 317 V. 35, p. 317 V. 35, p. 318 V. 35, p. 318 V. 35, p. 318 V. 35, p. 320 V. 34, p. 1299			
$\begin{array}{c} 109-5-1a\\ through\\ 109-5-1d\\ 109-5-2\\ 109-7-1\\ 109-8-1\\ 109-10-1\\ 109-10-1c\\ 109-10-1c\\ 109-10-2\\ 109-10-2\\ 109-10-7\\ 109-11-3a\\ 109-11-4a\\ 109-11-6a\\ 109-11-10\\ \end{array}$	Amended V. 34 Revoked Amended Revoked Amended Revoked Amended Amended Amended Amended Amended Revoked	t, p. 1299, 1300 V. 34, p. 1300 V. 35, p. 321 V. 34, p. 1300 V. 34, p. 344 V. 34, p. 345 V. 34, p. 346 V. 34, p. 347			

#### AGENCY 111: KANSAS LOTTERY

A complete index listing all regulations filed by the Kansas Lottery from 1988 through 2000 can be found in the Vol. 19, No. 52, December 28, 2000 Kansas Register. A list of regulations filed from 2001 through 2003 can be found in the Vol. 22, No. 52, December 25, 2003 Kansas Register. A list of regulations filed from 2004 through 2005 can be found in the Vol. 24, No. 52, December 29, 2005 Kansas Register. A list of regulations filed from 2006 through 2007 can be found in the Vol. 26, No. 52, December 27, 2007 Kansas Register. A list of regulations filed from 2008 through November 2009 can be found in the Vol. 28, No. 53, December 31, 2009 Kansas Register. A list of regulations filed from December 1, 2009, through December 21, 2011, can be found in the Vol. 30, No. 52, December 29, 2011 Kansas Register. A list of regulations filed from December 22, 2011, through November 6, 2013, can be found in the Vol.

# Kansas Register

32, No. 52, December 26, 2013 *Kansas Register*. A list of regulations filed from November 7, 2013, through December 31, 2015, can be found in the Vol. 34, No. 53, December 31, 2015 *Kansas Register*.

2010 10/10/00/10	810101.			
Reg. No.	Action	Register		
111-2-62	Amended	V. 35, p. 491		
111-4-3417		· 1		
through				
111-4-3421	New	V. 35, p. 131-135		
111-4-3422	New	V. 35, p. 157		
111-4-3423	New	V. 35, p. 157		
111-4-3424	11011	(100) p. 10)		
through				
111-4-3431	New	V. 35, p. 406-408		
111-4-3432	New	V. 35, p. 400-400 V. 35, p. 491		
111-4-3433	INCW	v. 55, p. 471		
through				
111-4-3441	New	V. 35, p. 457-463		
111-4-3442	INCW	v. 55, p. 457-465		
through 111-4-3445	New	V 25 p 402 405		
		V. 35, p. 492-495		
111-7-66	Amended	V. 35, p. 158		
111-7-68	Amended	V. 35, p. 159 V. 35, p. 159		
111-7-73	Amended	V. 55, p. 159		
111-7-75	Amended	V. 35, p. 159		
111-16-1	Amended	V. 35, p. 464 V. 35, p. 464		
111-16-2	Amended	V. 35, p. 464		
111-16-5	Amended	V. 35, p. 464		
111-17-21	Amended	V. 35, p. 160 V. 35, p. 136		
111-17-24	New	V. 35, p. 136		
111-17-25	New	V. 35, p. 161		
111-17-27	New	V. 35, p. 408 V. 35, p. 465		
111-17-28	New	V. 35, p. 465		
111-17-29	New	V. 35, p. 466		
111-17-30	New	V. 35, p. 498		
111-17-31	New	V. 35, p. 499		
111-401-35				
through	Amondod	V 25 m 162		
111-401-37	Amended	V. 35, p. 162		
111-401-142	Amended	V. 35, p. 500		
111-401-148	Amended	V. 35, p. 504		
111-401-185				
through	Amondod	V 25 p 120		
111-401-188	Amended	V. 35, p. 139		
111-401-190				
through	Amondod	V 25 p 140		
111-401-194	Amended New	V. 35, p. 140		
111-401-200a 111-401-201	INEW	V. 35, p. 409		
through				
0	New	V 25 p 400 411		
111-401-205	INEW	V. 35, p. 409-411		
111-501-122 through				
through 111-501-127	New	V 35 p 412 414		
		V. 35, p. 412-414		
AGENCY	115: DEPAR	TMENT OF		
WILDLIFE, PARKS AND TOURISM				
Reg. No.	Action	Register		
115-1-1	Amended	V. 34, p. 1204		
		× F · · · · ·		

115-2-1 115-4-11 115-4-13 115-7-1 115-7-2 115-7-10 115-8-1 115-9-6 115-30-1	Amended Amended Amended Amended Amended Amended Amended Amended	V. 34, p. 1206 V. 34, p. 1208 V. 34, p. 1210 V. 34, p. 1211 V. 34, p. 103 V. 34, p. 103 V. 34, p. 1212 V. 35, p. 274 V. 34, p. 104		
AGENCY 117: REAL ESTATE APPRAISAL BOARD				
	Action Amended Amended Amended Amended Amended Amended Amended Amended New (123: DEPARTM			
CORRECTIONS – DIVISION OF JUVENILE SERVICES				
<b>Reg. No.</b> 123-6-105 123-6-105a 123-15-107	<b>Action</b> Amended New New	<b>Register</b> V. 34, p. 868 V. 34, p. 868 V. 24, p. 1183		
AGENCY 125: KANSAS AGRICULTURAL REMEDIATION BOARD				
<b>Reg. No.</b> 125-1-6 125-1-7	<b>Action</b> Amended Amended	<b>Register</b> V. 35, p. 489 V. 35, p. 490		
AGENCY 127: KANSAS HOUSING RESOURCES CORPORATION				
<b>Reg. No.</b> 127-2-2	Action Amended	<b>Register</b> V. 34, p. 347		
AGENCY 129: DEPARTMENT OF HEALTH AND ENVIRONMENT – DIVISION OF HEALTH CARE FINANCE				
<b>Reg. No.</b> 129-5-1 129-5-1 129-5-10	<b>Action</b> Amended (T) Amended	<b>Register</b> V. 34, p. 100 V. 34, p. 340		
through 129-5-21 129-10-18 129-10-19	New V. Amended New	34, p. 943, 944 V. 35, p. 46 V. 35, p. 49		
AGENCY 132: KANSAS 911 COORDINATING COUNCIL				
<b>Reg. No.</b> 132-1-1	Action New	<b>Register</b> V. 34, p. 103		

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 S.W. 10th Ave. Topeka, KS 66612-1594